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Question Paper Specific Instructions

Please read cach of the following instructions carefully before attempting questions :
There are EIGHT questions divided in TWQ SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question { part is indicuted against it.

Answers must be written in the medium authorized in the Admission Certificate which must be

stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Altempts of questions shall be counted in sequential order. [Tnless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer (QCA) Booklet must be clearly struck off.
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CLEW. Y
SECTION A

Q1. Treafefas aoat # & uees &1 T9T T 150 wsei | difou

Answer the following guestions in about 150 words each : (10%5=50)

(a) TG AFEF-T (T TE-7) & 7o 1 Heg ° B9z Hifer |

Briefly explain the significance of Accounting Standard-7 (AS-7). 10

(b) T Fifew o e s @ FefEt tse e Fifia w1 vge 99 99 TR
g yHr A & 2

Explain why the companies issue right shares. How are right shares
different from bonus shares ? 10

(c) e o sifekar st ot eraTateT % e Teett <t faaeer Hifs |

Discuss the main aspects of audit of a banking company in India. 10

(d)  wer smEs sffEm, 1961 % SIEN WFH Trfd o T % SHarid sfa e
3 afier e =it wfomfia S | 38 0 SaTe gRT T R |

Define fair rent and annual rent under income from house property as
per Indian Income Tax Act, 1961. Explain it with an example. 10

(e) Tl TN (FIRET) T & 2 a8 WHHRAT AN (SEE i) ¥ g R i 2 2
HHART |

What is job costing ? How is it different from process costing ? Explain. 10
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A fafiee 4 B fafees & =gm =@ sfumew fFn ¢, o o9
31 AT, znz-;aﬁg_ﬂm%;

ey M
| G| (T) (%)
I - 3=t var 3aans ;
1. TR Al
(a) e TRt (T 100 ¥f) 16,00,000
6% AT 9 O
 1005F) 8,00,000 24,00,000
(b) STRTETal vd sAferery
dsfimre e 2.00,000
RILERICEEIRI 1,00,000
et afagfd w=a ‘
(s10fie 2@T T 10,000) 10000 3,16,000
9 HAUFTd FImd
6% Fores (feshed) 4,00,000
3. Hﬁﬁ“ﬂmﬁ '
ST 4 2,40,000
317 =1 ageTd
s (P 924,000 2,64,000
! &l 33,80,000
11 — gfErgfrET
1. =r=fem gfmeafeat
(a) HFIfE, §O5 UE 390
i T o 8,00,000
BCERC RN T 12,00,000 |  20,00,000
(b) 3o i
e (EAher) 4,80,000
Lrr 1,00,000 | 5,80,000
9. =TS TREFyfAT
(a) 3,00,000 |
(b) TR wTfeqar 3.60,000
(c) =¥l & Tohel AHH 1,40,000 8,00,000
A 33,80,000
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A fafiree &1 ot ufmmfrt (Tt 1 Srgwy) i Suaei (FoHET w3 ST
Sigat) = A3 @refia e & s Fraferfiae ofiwd @ spram e 31 sftrmr o

TI'QT%:

) T 4,00,000, 7% FOmET (9% T 100), st A fefiee 8 & == B fafieed
dispar ot & o, w6 wEeE ¥ foe, A ffide % weeE e @ e
Z 105 gfer 97 U |

(i) B fafine i ueie sftmar 9/t & forg = 10 wier siat Tondt a9m A fafiees o
9% ARME 9T T 100 wfd 3 fear smam |

(i) B ffiee i vom fmd o 3 faw = 20 wfa S e 991 A fefiee 4 o
St S T 100 1, Foras IR e T 140 7, feam sme )

Giv) B ffiree % vl & w=1 1 1fd A fafies 57 20,000 7 it @7 7
6T STt s arafas == i ufir T 25,000 T

A Tafiee o wawer ¥ Stvg 9, B fafies 1 a1t 3 wa3 71 959 T 11,00,000,

T 7 R 9T T 13,00,000 TR FH AT T 40,000 i 2 |

Afefires aur B fefiee i geei # s st wfafeat i |
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A Ltd. has acquired the business of B Ltd., whose Balance Sheet as at

Particulars (%) (%)
I - Equity and Liabilities :
1. Shareholders’ Funds
(a) Equity Share Capital
(F 100 each) 16,00,000
6% Preference Share Capital
(Z 100 each) 8,00,000 24,00,000
(b) Reserves and Surplus
Capital Reserve 2,00,000
Profit and Loss Account 1,00,000
Workmen Compensation
Reserve (expected liability
2 10,000) 16,000 3,16,000
2. Non-Current Liabilities
6% Debentures 4.00,000
3. Current Liabilities
Trade Payables 2.40,000
Other Current Liabilities
(Interest payable on 24,000 2.64,000
debentures)
i Total 33,80,000
' II - Assets :
1. Non-Current Assets
(a) Property,
Plant and Equipment
Land and Building 5,00,000
Plant and Machinery 12,00,000 20,00,000
(b) Intangible Assets
Goodwill 4,80,000
Patents 1,00,000 5,80,000
2. Current Assets
{(a) Inventories 3,00,000
(b) Trade receivables 3,60,000
{c) Cash and Cash equivalents 1,40,000 8,00,000
Total 33,80,000
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A Ltd. was to take over all assets (except cash) and liabilities (except for

interest due on debentures) and to pay the following amounts :

(i) T 4,00,000, 7% Debentures (T 100 each) in A Ltd. for the existing

debentures in B Ltd.; for the purpose, each debenture of A Ltd. is to

be treated as worth ¥ 105.

(ii) For cach preference share in B Ltd. ¥ 10 in cash and 9% preference

shares of T 100 each in A Ltd.

(iii) For each equity share in B Ltd. ¥ 20 in cash and one equity share

in A Ltd. of ¥ 100 each having market value of ¥ 140.

(iv) Expenses of liquidation of B Ltd. are to be reimbursed by A Ltd. to

the extent of ¥ 20,000. Actual expenses amounted to T 25,000.

A Ltd. valued Land and Building at ¥ 11,00,000, Plant and Machinery

at ¥ 13,00,000 and Patents at ¥ 40,000 of B Ltd. for the purpose of

amalgamation.

Pass necessary journal entries in the books of A Ltd. and B Litd. 20
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(b)  Afafies 31 7€, 2024 =1 fr=fofiaa gem-T3 wega w2

feraror T (@9RH) | T EIRTH)
1 - §ferret wet mramy :
1. ST faferat
(a) RS
¥ 10 i ST % 6,00,000
St e, it o 6,000
AT & T &
¥ 100 ufd 9197 97,
40,000, 9% AT IR 4,000 10,000
(b) SATCfErfert Ty Aty .
ESIEEEIE 20
TR AT | 8,000
wfcgfer siferm 1,000
GICERERCIG 3600 12,620
9. WAYEfeAd 2aand
10% 9949 800
3. e 2uand
=T 2 | 80
™ 23,500
11 — ufEea et ;
1. FAvafed yfmmafaat
(a) wwafd, T99 TS ITHR 5,600
(b)  Awrafera FaeT (@rm W) 10,000 15,500
9. =re TiEw ot
(a) % 2,000
(b)) =mIR wiitqat 4,000 .
(¢) el d IH quE 2,000 8,000
&l 23,500

T T 15 ufd 9 Y 2 e R S % 20% SR Ay wdied i s
yifia e | 0 32w % fTT, S T 3T T 60 WTE ¥ AW A T 50 @@ i A
femm)

A Tfires =it qeast # sravas s sfafteat Hifs qor Szt 6 e F ae

EERERRIETIE
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A Ltd. furnishes the following Balance Sheet as at 315t March, 2024 :

Particulars % (in000) | % (in000) J
I - Equity and Liabilities :

1. Shareholders’ Funds

(a) Share Capital
6,00,000 Equity shares of 6,000
T 10 each fully paid up
40,000, 9% Preference
shares of T 100 each 4,000 10,000

(b) Reserves and Surplus

Capital Reserve 20
Revenue Reserve 8,000
Securities Premium 1,000

Profit and Loss Account 3,600 12,620

2. Non-Current Liabilities
10% Debentures 800

3. Current Liabilities
Trade Payables a0

Total 23,500

II - Assets :
1. Non-Current Assets
(a) Property, Plant and

Equipment 5,500
(b) Non-Current Investments
(at cost) 10,000 15,500
2. Current Assets
{a) Inventories 2,000
(b) Trade receivables 4,000
(¢) Cash and Cash
| equivalents 2,000 8,000
Total 23,500

The company passed a resolution to buy back 20% of its equity capital
@ ¥ 15 per share. For this purpose, it sold its investments of ¥ 60 lakhs
for T 50 lakhs.

You are required to pass necessary journal entries in the books of
A Ltd. and prepare Balance Shect after buyback of shares. 15
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(€) () TR FER AfUfEm, 1961 % sievia seawioE i Ao foftra
& % arfeRer i fftmat s seera Hifi )

State the methods of computation of Short-term and Long-term
capital gains under Indian Income Tax Act, 1961.

(i) e s srffiem, 1961 i uw 50 % siqta qeggTa-are afweafE
BT o Wt 3 dsira ey 3t seena Fifi |

State the rules of capital gains in case of transfer of depreciable
assets under Section 50 of the Indian Income Tax Act, 1961. 15

Q3. (a) W 2024 % W F M, T 2000 FHEAT F WAL T S1ET W | W w6
ffafe = 5% stefaa e mr | o % s 8, 1400 FTEET 1 3eTTEA AT T
S 3% omrelt whear # sigor fear mn, R ¥ 460 g s of s
140 gredt = fmer (S6) fomm v | 2w siwe o 3 g sl IeeT &
frreferia vt e agt of -

et 75% g0 E T

oM 50% TR

I9TEET 50% T 8 T
91 1 71§ 2000 3HTEAT AW T 5,800 of | whrET 3 S S o a1 wewer
TR T 1,440 off | IR IJUMT T 1,670 T YT 57 T 3,340 9T | I
et T () 3 W T 1 9l T et i | Fraeht (e st
mﬁgﬁtgﬁﬁ,mm,maﬂtm%ﬁﬂﬁmﬂ%mwm
fora T ar |
FThl e o dan s wremrmr 2
(i)  HHged Ieuted =1 faa,
(i) AT SR geams @ o,
(iii) w1 @, 3f
(iv)  SEmE= B = |
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During the month of May 2024, total 2000 units were introduced into
Process-I. The normal loss was estimated at 5% on input. At the end of
the month, 1400 units had been produced and transterred to the next
process, 460 units were incomplete and 140 units had been scrapped. It
was estimated that incomplete units had reached a stage in production
as follows :

Material 75% completed
Labour 50% completed
Overheads 50% completed

The eost of 2000 units introduced was T 5,800. Direct material

introduced during the process amounted to ¥ 1,440. Production

Overheads incurred were T 1,670 and Direct Labour was ¥ 3,340. Each

unit scrapped was realized at ¥ 1 each unit. The units scrapped have

passed through the process, so were 100% completed as regards

material, labour and overheads.

You are requested to prepare the following statements :

(i) Statement of Equivalent Production;

(ii)  Statement of Cost and Evaluation;

(ii1) Process-1 Account; and

(iv) Abnormal Loss Account. 20
(b)  “enTa Sraie grafitar 1 v yore! & 7 o yradiar (Tee-arew), a8 e A §

aeet 2t &, iR F wfy & & oft sfie @ w0 # (7 o v &

Y 3 FUA il THATIT |

“Cost Accounting is a system of foresight and not a post-mortem, it turns

losses into profits, speeds up activities and eliminates waste.” Explain

the statement along with vour viewpoints. 15

(c)  Tardy cramien vs ovET ST F YUE ¥R T § 7 IaTECN Ffeq ST IEHI T
#ifsm |
What are the kev differences between Special Audit and Accounts
Investigation ? Give your viewpoint along with examples. 15

Q4. (@ At Y @E 59 99 # oe 9§ 2023 -24 F A g A7 F ¥ A
T 7.90,000 A F HTH T 1,18,000 et ¥ | T rewmar, 7SS W 3 A1
W (S 3o 1 RERT ®) T 52,000 w97 3% 3T SIfE HRER (SHeET) W 4 gfaerd
Ffty ot firen & | 3 & 9, 3R T 90 WRE F HRIER (SHaATaT) Bt R E |
forefaaT =T e wiesy Bl (ifase ve) § T 2,24,240 % AVRH <@ # |
30 J9=R, 2023 1, 10 wfawa =z &, wfdey fifiy 7 £ 40,000 sa7191 & 97 9 S
T & | 3% T 450 9fF uE (+F F o) ek T 80 ufq wiE (& # ferg) A
famear s oft foreran 2 | 1 arat % forw fven =Y AvTE ST F 1,80,000 ® (A
T 1,10,000 #fteedt Y (a7) ZTT ST o 1 At g7 6 ®) | e et s
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At &R feft 32w & forg 1800 wieft Y #r Iuesy Tt & ot I F
HATe U TEeEE 6 (U S A aE ¥ | A 9 S S, w1 Al
JUAR T 65 Wfowd ¥ | 1 TEER, 2023, ¥ 3 e e mn A S
T 6,000 id 718 AT FTA T | TR HHE AR E 3 T 1,65,000 8 |

a9 w1, 78 Frafafad drem o g =

() s Ff & s gee = 3,36,360 |

(i) s Sfra sfimr sfifiem @ = 9,000 (fifia afdt = 80,000, o difwd
femmar 2018 ot 1 oty |

(iii) UFuEd VIII # fmar mar 9mem # 11,000 |

(iv) =% 92 % Sl sftar fifirey o (5 37 @ e = Y) = 4,000 FrameH
(sffea ufer £ 1,00,0002) |

(v) SRt 7Tl (ST 80 o &) St 37 W anifie €, F fiaw <t fifta w
T 2,000 e R |

(vi) e EEafer e o forw, fer mo s a6t gasdra & 21,000 fmd

forafira =t szewen & ded steber 9§ 2024 - 25 F AU it Y (@) F wedm
arer =1 FRerfror fSr | wmyr & amr 80 W ¥ e T el W @b T o
Hiferg |

Mrs. Y (59 years) receives ¥ 7,90,000 as basic pay and ¥ 1,18,000 as
bonus during the previous year 2023 — 24. Besides, she gets ¥ 52,000 as
Dearness Allowance (forming part of salary) and 4 percent commission
on turnover achieved by her. During the year, turnover achieved by her
18 T 90 lakh. The employer contributes ¥ 2,24,240 towards recognised
provident fund. The amount of interest credited to provident fund on
30 November, 2023 at the rate of 10 percent comes to T 40,000. She also
gets child education allowance of ¥ 450 per month (for daughter) and
¥ 80 per month (for son). Cost of education is approximately  1,80,000
for two children (out of which ¥ 1,10,000 is tuition fees paid by Mrs. Y).
The employer company provides 1800 cc car to her for official and
private purpose and incurs the entire expenditure on running and
maintenance of the car. Personal use of the car as per log book is
approximately 65 percent. With effect from 1 November, 2023, she gets
a driver to whom the company pays ¥ 6,000 per month. Her income
from house property is T 1,65,000.

During the year she makes the following contributions and
investments :

(i) Own contribution towards provident fund ¥ 3,36,360.
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(ii)  Insurance premium on own life T 9,000 (sum assured ¥ 80,000,
policy taken in December 2018).
(iii)  Contribution towards NSC VIII issue T 11,000.

(ivl Insurance premium on the life of major son (not dependent on her)
T 4,000 (sum assured T 1,00,000).

(v) Insurance premium on the life of her mother (age 80 years)
dependent on her T 2,000.

(vi) Repayment of loan taken to purchase house property ¥ 21,000.

Determine the taxable income of Mrs. Y for the assessment year

2024 - 25 under regular tax regime. Also calculate Gross Qualifying

amount under Section 80 C. 20
()  wRdT R sfufiEE, 1961 % STER, A qereE w1 AW BH % e

Fia- 310 SETEE € 7 UF [ SaTetv 5 36 §HHATY |

What are the conditions required for availing of additional depreciation

as per the Indian Income Tax Act, 1961 ? Explain with a detailed

example. 15
() Tyl dEHt % g i aurdt craTwier % for eyl wefere fargat

o & firer T | %W@%mmﬁﬁ%@mﬁmﬁ%&

=T Erefl 2 2

Discuss in detail the important checklist points for a smooth and

effective audit of non-profit making organisations, How is it different

from the audit of modern day business organisations ? 15
@z B
SECTION B
Q5. Freferttas woat # & Wi %1 I ST 150 vegi 6 fife
Answer the following questions in about 150 words each : (10x5=50)

(@) Trifim @) e i ahonfye Hifs | frem siv sifmeo & i siw T
FIRTT | TATer # IR SETET S eI |

Define corporate restructuring. Differentiate between mergers and
acquisitions. Also give suitable examples. 10

(b) T T U oft S 3 ot i e e | g A for e oft o if

Ft ada Rt & g9 |

Distinguish between money market and capital market. Explain the
present state of RBI policy for the money market. 10

(c)  Forefrr weie 3 segall o ferererr G | - o RerehwieRtor T THERT SR © 2

Discuss the objectives of financial management. Why is
wealth-maximization the preferred objective ? 10
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(d)  “ntT gt ST, et % e, g3g vd geattyd € 17 39 Fue s e
i |

“Indian capital markets are sound and well-structured under SEBI's
supervision.” Explain this statement. 10

(e)  “feretr s o Frer wfafeft fFofar fermiior afi foaaor wareft fFofal 3 s1fer meergof
B & 17 78 o o = ifsmo |

“Investment decisions are more important than financing and
distribution decisions in financial management.” Discuss this statement. 10

Q6. (a) @EFE, T 3,00,000 7 wF AYH G TE | T T 1,80,000 F TEAF ToF 7
gt fof mra 2 | for foeft orarete o 3, s sl sfa 16 @ ot | 9l sa
mYitT T 4,50,000 ST A1 T 7 & geaifi e s 8, 9 oe 10 a5t %
T H=Ire AT = T 60,000 F = TR ST HEFAT @ | IO TR 6 ol 210,000
U A ST GRS A AP 10% ® 1 T8 WA 6 o 9§ F St wrer §
T 50,000 % I gea  arey wffeft T ser o grfde R s
A foran s, st i % A 55% # 3 NPV (ur o =y faftr %1 w9 =+ 2

SaTgY, ok QAT AR preatfie i afee ar e |
T §od e 10% T Fwferfige 2 _
i REARNIFEE EE NG EET

| T ST FRF | 0-909 | 0-826 | 0-751 | 0-683 | 0-621 | 0-564 | 0-513 | 0-467 |

Six years ago, a machine was purchased for ¥ 3,00,000, It has been
depreciated to a book walue of ¥ 1,80,000. Tts economic life was
15 years with no salvage value. If this machine is replaced by a new
machine costing ¥ 4,560,000, the operating cost would be reduced by
T 60,000 for the next 10 years. The old machine could also be sold for
¥ 10,000. The cost of capital is 10%. The new machine will be
depreciated on straight line basis over eight years life with ¥ 50,000 as
salvage value.

Assuming the company’s tax rate to be 55% and using the NPV method,
state whether the old machine should be replaced or not.

The present value factor at 10% is as follows : 20

|Year 1| 2 3 4 % 6 | 7 8
fPiT 0-909 | 0-826 | 0751 | 0-683 | 0621 | 0564 | 0-513 | 0-467
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(by forciia favial & sifign.gem & o9 gqem o (fes-fed ge-3its) & e
Fifsr | areor difsi |

Discuss the risk-return trade-off in financial decisions. Give examples. 15

(c) AT G JeIeTh (orater) T FHT 7 779 F5 4 ? W & WY A ()
3 WA o SR SaTERuiT afed v hifsre |

How will you measure the degree of combined leverage ? Also describe
the effects of combined leverage along with suitable examples. 15

Q7. (a) U SO+ % Heleish qUed 4 IeUTEH H1 15,600 JHEAT % FE-w & fore wrffter
A0t & e e dan w0 # agiy feen 2| frafafiad geend e 8y

JqTS E
(31 i geTs @rTa o fosra 0o
FedT AT Z 90
aH T 40
IR F 75
T 206
ol T 60
[EERE = 265

(@ (i) e HIe HIEA U HIE 8 Wik 4 v |
(i) oo ATer Ao § sftea 2 avdre T e |
(iii) SRR AT T UF e o W H EaT |
(iv) sgfdemaiat! g e R U ATE i ¥ |
(v) TRAHANTEAEIAAESE |
(vi) weigll e ¥ e %maﬂ%l
(vii) 3Tt 3 yrar o e tr A w2 |
ICUTEA T 20% THE ST ST @ | TR Uohg T 60,000 AT € | T HET STl

2 fi5 3eares o vl e 9 & o 8, el 3 e i sl et e ®
31T 4 \YATE, T WTE & SO S |
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The Board of Directors of a company asks to prepare a statement
showing working capital estimates for a level of activity of 15,600 units
of production. The following information is available for caleulation :

(A)  Per Unit Cost and Selling Price :

Raw materials T 90
Labour T 40
Overheads T T
T 206
Profit T 60
Selling Price T 265

(B) (i) Raw materials are in stock on an average for one month.
(ii) Raw materials are in process on an average for two weeks.
(iii) Finished goods are in stock on an average for one month.
(iv) Credit allowed by suppliers — one month.
(v) Credit allowed to debtors — two months.

(vi) Lagin payment of wages — 1% weeks.

(vii) Lag in payment of overheads is onc month,

20% of the production is sold against cash. Cash in hand is expected to
be T 60,000. It is to be assumed that production is carried on evenly,
throughout the year, wages and overheads accrue similarly and the time
period of 4 weeks is equivalent to one month. 20

Uh YT FI el AT T 1,00,000 2 | et F dst =2 o swor o $Red 2§
forem =01 ) fSr = 4,00,000, 10% = 1 20 IR FFTH 2 | IR T FH
=1 BHAT 39T IS T AR 12-50% # | F et A A IS = e an, 118
T IU0TH % i F1a SR | 38 swer i © 1,00,000 & e G 90 97 HH AW
fém S, &t shot < e W 3R it i e wvT v v s 3amn & SR T
ST 92 ?

A company has earnings of ¥ 1,00,000, The capital structure of the
company contains debt as well as equity in which debt is of © 4,00,000
borrowed at the rate of 10%. Presently, the cost of equity capital of the
company is 12-50%. Find out the total value of the company and the
overall cost of capital using Net Income approach. If debt is increased or
reduced by ¥ 1,00,000, what will be the effect on the wvalue of the
company and on overall cost of capital as per the Net Income
approach ? 15
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(c) ety farefrr womeft & svaroft forefier ATsiR SuaRtOll ot a9 ST ST EIRCEEEI
TS | |y & I Sarer dif |

Discuss the leading financial market instruments and innovative
debt instruments in the Indian financial system. Also give suitable
examples. i5

Q8. (a) el farfir womeh % i@ iR ) e FR | U e e S gt
ferier womeft v 3oek Wi st # awiar e |

Explain the key classification of the Indian financial system. Make a
diagram that depicts the entire financial system and its key components. 20

(b)  “oAT$ TR & U F Tadw v feiavr # wra # sy Jeien wgd ol § 59 w1 17 36 A
¥ o7t 1, Sfae s wree iy & 39 SErET sy A S | o S sy gs o
w fifamd wewt ki wweey |

“The insurance industry in India is growing very fast under the direction
and control of IRDA.” In the light of this statement, discuss the
emerging trends in life and health insurance. Also explain the
government policy initiatives in this regard. 15

(¢) e fafmior wif § sefsfier 45t weiem =1 ofvnfie fifve | seivia & % o
ST R § € 7 aefie saETiies SaAl 8 Arerd e U Tehd] YeET 9
e AT ?

Define working capital management in a manufacturing firm. What are
the key components of working capital ? How does inventory
management hold importance over cash management in modern
business organisations ? 15
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